BIG BIKE PARTS INSTALLATION INSTRUCTIONS

CRUISER FOOTREST BOARDS
Part # 21-330, #21-330C, #21-351, #21-351B, 21-553B

Copyright® 2000 by Big Bike Parts, Inc. No part of this instruction sheet may
be reproduced without the written permission of Big Bike Parts, Inc.

TOOLS REQUIRED: 8MM ALLEN WRENCH
14MM SOCKET & WRENCH

1. THIS PART IS SUPPLIED WITH TWO (2) DIFFERENT SIZE BOLTS.

2. USE BOLT SIZE M10 - 1.25 X 65 WHEN ATTACHING THE FOOTREST BOARD ONTO THE FOLLOWING PARTS:
#21-301 1" UNIVERSAL CLAMP
#21-302 1" CLAMP (VALKYRIE INTERSTATE)
#21-303 1 1/4" UNIVERSAL CLAMP
#21-351 PASSENGER PEG RELOCATOR
#21-352 DRIVER PEG RELOCATOR
#21-552 PASSENGER PEG RELOCATOR
#21-553 PASSENGER PEG RELOCATOR

3. USE BOLT SIZE M10 - 1.25 X 75 WITH LOCK NUT WHEN ATTACHING THE FOOTREST BOARD ONTO THE FOLLOWING PARTS:
#21-310 STRAIGHT OFFSET EXTENSION
#21-312 STEPPED OFFSET EXTENSION

NOTE: WE RECOMMEND USING "LOCTITE" ON THE THREADS OF THE BOLTS THAT DO NOT UTILIZE LOCK NUTS.

BIG BIKE PARTS INSTALLATION INSTRUCTIONS

CRUISER FOOTREST BOARDS
Part # 21-330, #21-330C, 21-351, #21-351B, 21-553B

Copyright® 2000 by Big Bike Parts, Inc. No part of this instruction shget may
be reproduced without the written permission of Big Bike Parts, Inc.

TOOLS REQUIRED: 8MM ALLEN WRENCH
14MM SOCKET & WRENCH

1. THIS PART IS SUPPLIED WITH TWO (2) DIFFERENT SIZE BOLTS.

2. USE BOLT SIZE M10 —1.25 X 65 WHEN ATTACHING THE FOOTREST BOARD ONTO THE FOLLOWING PARTS:
#21-301 1" UNIVERSAL CLAMP
#21-302 1" CLAMP (VALKYRIE INTERSTATE)
#21-303 1 1/4" UNIVERSAL CLAMP
#21-351 PASSENGER PEG RELOCATOR
#21-352 DRIVER PEG RELOCATOR
#21-552 PASSENGER PEG RELOCATOR
#21-553 PASSENGER PEG RELOCATOR

3. USEBOLT SIZE M10 —1.25 X 75 WITH LOCK NUT WHEN ATTACHING THE FOOTREST BOARD ONTO THE FOLLOWING PARTS:
#21-310 STRAIGHT OFFSET EXTENSION
#21-312 STEPPED OFFSET EXTENSION

NOTE: WE RECOMMEND USING "LOCTITE" ON THE THREADS OF THE BOLTS THAT DO NOT UTILIZE LOCK NUTS.




